[5[a] %)

AT ERREAT
BIRA B = SAKEH BIRA
57 0 = s
61 |[REFE T 4 2:55 0 EHFHAX
65 |lEEFEE 0 1:41 © 5 BEREE
70 0 ™ 5  |WREEX
74 |FBERE 0 1:26 © 5 SEk
86 |BEEIK 0 B 5 |RARMIK
125 [T 0 B 5 |Ethiik
AR 1 6
HRREAT ERAS
BIRA B & SAKEH BIRA
57  [BIFIEIK D 5 0
61 |/NEFFH A 5 0
65 |BFR%E © 5 3:30 0 I
70 | aEE = 5 0
74 0 A 5  [INRIEHBE
36
125 [BREA = 5 0
AR 5 1
SIS BEA S BAY = L3 A K= YK
BIRA B & SAKEH BIRA
57 0 = 5 [max
61 [HBEA = 5 0
65 |IMAHER D 5 0
R 7~ 5 0
74 |ETFE} 0 1:21 © 5 TG R
86 [RTTE A 5 0
125 0 ™ 5 2/ BERY
AR - 3




